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*Puede usar formulario de trigonometría y……¡ mucha imaginación!


1.-si  sen


2.-


3.-Si :   demuestre que :

Sen2


4.-4cos

tag


5.- 			6.- 


7.- 				8.-


9.- 			10.-


11.-sen			12.- secx(1-sen
13.-ctgxcosxcscx=1				14.- senxsecx=tagx


15.- 			16.- 


17.- tagx+cotgx=			18.- 


19.- 1-2sen			20.- 1+tag


21.- 		22.- cos


23.- (1-sen			24.- 

25.- sen		26.- tagx+tagy=tagy(ctgx+ctgy)

27.- 2sen		28.- tagx+ctgx=secxcscx


29.- 			30.- tag


31.-		32.- 2tagx+1=
33.- 3senxcosx=cosxctgx			34.- senx+cosx(1+tagx)


35.- 2tagx+cosx=		36.- 

37.- senxsecxctgx=1				38.- tag


39.- 			40.- ctg


41.- 			42.- 1-2sen


43.- 	44.- 2sen


45.- 	46.- 


47.- secx+tagx=			48.- 

49.- tag[image: ]		50.- (1-


51.- (senx+cosx)

52.- (senA +cscA)(senA+cosA)=secAcscA-2


53.-(senA+cscA)


54.- 

55.- cos3Asen2A-cos4AsenA=cos2AsenA

56.- cos5Acos2A-cos4Acos3A=-sen2AsenA

57.- sen(A+B+C)+sen(A-B-C)+sen(A+B-C)+sen(A-B+C)=4senAcosBcosC

58.- cos(B+C-A)-cos(C+A-B)+cos(A+B-C)-cos(A+B+C)=4senAcosBsenC

59.- sen2A+sen2B+cosC+cos(A+B+C)=4cos

60.- si A+B+C=180º . demuestre que:
60.1.- sen2A-sen2B+sen2C=4cosAsenBcosC

60.2.- senA+senB-senC=4sen

60.3.- 
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